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A. Fill in the blanks. 

1. 5 notes of 20 =_ 

2. notes of 50 can be exchanged for a five hundred rupee note. 

3. Cost of an ice-cream is . 
, if 7 ice-creams cost 70.70. 

4. 43.90 =. rupees - paise. 

5. 750 p=7- 

6. Cost of 1 kg tomatoes will be_ if 5 kg of tomatoes cost R200. 

7. 44.50+65.50 = 7_ 

8. 100-735.25 = 

9. Cost of a book is T20.75. The cost of 3 books will be. 

10. Half a kg rice costs R70, then 2 kg rice will cost. 

B. Add the following. 

1.733.35 and 7 50.25 2. 22.35 and 744.15 3. F16.05 and 732.25 
C. Solve these story sums. 

1. Namita bought wheat for R280.50, oil for R 166.50 and ghee for F 120. How much money did she 
spend in all? 

2, Monika goes to a shop with R 550 to buy a suit piece. She chooses a suit piece which is priced at 7915.75. How much more money does she require to buy that suit piece?2 
3, If soma saves R1350 every month, how much money will she save in 5 vears?



{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

